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~ Reg. No.

Il Semester B.Com. 3 Degree Examination, Nov./Dec. 2016
(Fresh and Repeaters New Syllabus)
CORPORATE ACCOUNTING - |

Time : 3 Hours Max. Marks : 80

Instructions : 1) Attemptall Sections according to internal choice.
F030F c—m:g ogplefor) @mﬁﬁgf@ VFOR0.
2) Simple and non-programmable calculators are allowed.
A0 03 FoOAR BTN 59 € 08307 LVOTOIR CNTLIT.
3) Give working notes as part of answer.
A~ wegsaw@ QeR0. e VIO GNTINOSE.

SECTION-A
TN — &

1. Answer any ten of the following : , (10x2=20)
CIRPTRTTR T, LVBORD: -

a) What do you mean by issue of shares at premium ?
GROVUES) 2E00RT TOTY, VBT @oddem >

b) What do you mean by preliminary expenses ?
TPTF IO B0 0TI ?

c) Write two features of Goodwill.
8087 ST0QT TR O sar{%ﬁag W30,

d) What is Net Asset Value ?
Q& 53 83 0TBER1 ?

e) What are the types of Goodwill ?
8&%&'53’3@5(3 TFOAPRIR) 7

f) What is fair value of share ?
ABIT, BeTons cdneery [P, oTTeRd ? P.T.O.
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g) What are methods of valuation of shares ?
36 WS BFOND SRR ?

h) What is rebate on bills discounted ? How do you treat in Bank Balance Sheet ?

2268 INRT BI0RNS BIOT DOSRONG ROTSER ? VT, ST B3O 239,083
BFoDY Berd ONesR0 ?

i) Name the four sources of income for a bank.
23500 T 239,088 SRV STONIIY SPR0.

j) Name any four operating expenses of a bank.
236500 T, 239,08 109 DBF MY SPA0.

k) Who are the preferential creditors for the purpose of liquidation ? Give two

examples.
20TR0D FBRTIB LBBTN TFR,T FONT 035932 ? SORD YUTBTFRNTI),
RAO.

) What do you mean by liquidation ? Name any two types of liquidation.
BoTROD RNV H0T3ER0 7 RRPTVHOD OB DRI, BIORD.

SECTION-B
TN — W
Answer any three of the following : (3%5=15)
CRRTTTR BT, GUZOR0

2 Show how the share capital will appear in the Balance-Sheet of Arun Company
Ltd. as per vertical system of accounting

3
Authorised Capital 30,00,000
Issued Capital - 25,00,000
Subscribed Capital 18,00,000
15,000 Equity shares of ¥ 100 each paid 15,00,000
Calls unpaid by directors 1,000

Calls unpaid by others - 1,000
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ST BoRR D0 e57oss B8 (wow BYF) Bert LOBIDVT), Broe0RTO ?

5.
SR RRBS oy iy 30,00,000
8303 10w | 25,00,000
EnoRRRt)R woBmY 18,00,000
15,000 303, 3¢ I, 100 53 15,00,000
T ETTT TRERSOTT LeRdd 1,000

eBoHR3d @d@?&’mdd WJe3B 1,000

3. Calculate (NAV) Net Asset Value per share from the following :

4
Market value of assets 29,50,000¢
External liabilities :
i) 10% Debentures 5,00,000
i) Creditors 5,00,000
Number of Equity Shares 20,000

31 Eot3) B80T AF Y &5 WD) T8 Feon BomLRD:

an.
SR eReh WS 29,50,000
mcﬁ.?j BRBMOB :
i) 10% o, 5,00,000
) Bowredes 5,00,000

FOTRT, Zedons? 2.£32 20,000 33030
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4. From the following particulars of Daraxi Ltd. calculate goodwill at three years
purchase of average profits of last 4 years

Year Profits Weights

¢
2012 25,000 1
2013 32,000 2
2014 40,000 3
2015 50,000 . 4

Calculate the value of Goodwill under weighted average profits method.

<iopL-} ORI T FOWODRTIOS FFNT LY SRR 30930 B8E CRLIE BT BRF NG
936@@0335% EN SN %eérds’ae%dag BOTOZEBCAD.

IR (Spth) 303
oR.

2012 25,000 1

2013 32,000 2

2014 . 40,000 3

2015 50,000 4

dzid FOORO AYIR0B R edF BIPY[I) BOTO&RO0.

5. Fromthe foIlowirig information of Siddeshwar Bank Ltd., prepare P and L statement
for the year ending 31-3-2016 :

3
a) Interest and discount 2,77,500
b) Interest on deposits ' : 1,20,000
c) Commission and exchanges 30,000
d) Pand L (Credit balance 31-3-2015) : 60,000
e) Operating expenses | 39,000
f) Provision for Income tax _ 27,000

g) Provision for Bad Debts - 18,000
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QT8 31-3-2016 Totd RT3, T 239,08 RO 83 BPNS FYFIT BR&WENVOTD IDFH,
TRAT SRRBDY, DY-TR, 2Z0DIY SOIRORD.

SR,
a) WG =B Aeed 2,77,500
b) Beedns? $0edT W& 1,20,000
C) BeRg BB IRRD | 30,000
d) oot R8I, (31-3-2015) § 3w 60,000
e) F0RF SWRD Fe, 139,000
f) esmood 3ormon @ob%bf%d% 27,000
g) 383, TOREMHN TCIORE). 18,000

6. Explain the order of payment to be made by liquidator at the time of liquidation of

acompany.
2,00 BOBAOD AVNRBI BeFoDG, RBRTeS LTIV T TRERICTIT FIOBI),
QTORD.
SECTION-C
NN — T
Answer any two of the following : ; (2x15=30)

3 SN 3303 adc%éé emgbm .

7. Fromthe following information of Shaheed Ltd. for the year ending 315t March 2016.
Prepare Balance Sheet as on 31-3-2016 as prescribed by Schedule VI of Companies
Act under Vertical form.

Share Capital :
30,000 Equity Shares of Rs. 10 each - 3,00,000
1,00,000, 10% Preference shares of 10 each - 10,00,000
Securities premium - 5;00,000.
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General Reserves : - 11,25,000
Loss for the current year 3,00,000 -
Bonds and Debentures - 6,00,000
Long-term loans (from Banks) (Secured on Building) — 4,00,000
Other long-term loans - 2,00,000
Short term Borrowings (from others) -~ 3,00,000
Trade Payables (Short term) - 10,45,000
Other Current Liabilities - 1,70,000
Provision for Corporate tax - 6,50,000
Provision for Salaries and wages ~ 50,000
Building (after depreciation — 3,90,000) 23,00,000 —~
Furniture (after depreciation — 10,000) 1,50,000 ~
Capital Work in progress 1,00,000 -
Investment in equities (non current) 3,00,000 -
Investment in Preference Shares (non current) 1,25,200 -
Closing stock 12,00,000 -
Loose tools . ‘ 58,000 =
Trade Receivable (Short term) 12,04,800 -
Cash inHand 2,75,000 -
Cash at Bank 3,27,000 -

63,40,000 63,40,000
Additional information:

a) Authorised Capital of the Company — 40,000 Equity shares of 10 each and
1,20,000 — 10% Preference Shares of Rs. 10 each.

b) Other current liabilities consists of “Income Received in advance”.
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9860 ORI BORROID D005 31-3-2016 %oowmd Sleno wgécmag BRR
3B — VI IFoT 303700 (under vertical form).

3630 WOReS :

30,000 =373, 3¢5 3. 10 308 - 3,00,000

1,00,000, 3¢. 10 Tc3 @3§6§e&ﬁ% 10 B3 = 10,00,000
8RO 20000303 - 500,000
WRPT, I - 11,25,000
TR (“&dc ds;‘is‘) 3,00,000 o
LTOBR® 3083 BLIeoesTR® (FOMDT TE) - 6,00,000
DEFFFRE) W05V WO (BLR oedS tineed) - 4,00,000
2398 Q0O DT B AW - 2,00,000
ST WO (LT FBOWOT) - 3,00,000
JSB008 3RBEIET) (WRRG) -~ 10,45,000
23e3 BB AONED - 1,70,000
323003 3071 mos%bmaé)cﬁo : : - 6,50,000
Fe3T AT sao&gpzb@da - 50,000
3433 (R399 Bre. 3,90,000 3RS oeed) 23,00,000 >
2e82e3338s (3. 10,000 B339 313 Boee) 1,50,000 -
d@dséﬁojoe?g FOODF LOBOP : 1,00,000 %

ROBRT, Becon®E) noozwes (non current) 3,00,000 -
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TBR, FeBonTd rdozaes (non current) | 1,25,200 -
WO MI0BIRES : 12,00,000 -
QRA* AOTCHBNLD 58,000 -
BRBEND (LRBO) -12,04,800 -
[N 2,75,000 -
13,08397 [ned 3,27,000 -

- 63,40,000 63,40,000
Q3T RSN :

a) ST VPR LorEes 40,000 Secorishb 3. 10 B3 RORRF, Beoorish 35231,20,000
3e. 10 803 @373’6 Sevonsb 3r. 10 303 |TIFT.

b) @@ RS oo TOPB), RO BREMOF0300T TONESRIT 0.

8. A Limited Company went in to voluntary liquidation with the following liabilities.

3 4
Trade Creditors 12,000
Bank overdrafts 20,000
Capital :
10,000 Preference shares of X 10 each X 7 called up 70,000
10,000 Equity éhares of ¥ 10 each X 9calledup 90,000
Less : Calls in arrears _2,000 88,000
Cash received in anticipation of calls : _
On Preference Shares , 24,000
On Equity Shares 4000 28,000

The assets realized ¥ 2,00,000. Expenses of liquidation amounfed to ¥ 2,000
and liquidators remuneration ¥ 3,000.

Prepare Liquidators Final Statement of Accounts.
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l

E .

[ 20730 D3RO FOTICD FHNT BEUWRONERON 3,000 QR SRP0R.

B 5. 2.
% S0 FOND : 12,000
: 2R, 05° LB ET, 20,000
OB :

; 10,000 3. 10 B T. 7 33 808, @23#_6 Secongd 70,000

10,000 B. 10 T . 9 33 3pE3, FOTIRT, eTonsd 90,000

3R : wd@§ IONLD 2.000 88,000
30N é’oaegodoe?“ TR INT -
@37\_)’6 Betony oees 24,000
mdma’% Bedons w303 4,000 28,000

SANY BRTOOT 2003 Bed 8. 2,00,000. IBRT 323, de. 2,000 =02 ARNBS
205003 Foyws oe. 3,000.

e TRBING 27}, 20O, FRRROS 083 g BB IO,

9. Bhagwandas and Co., Ltd. proposed to purchase the business carried out by
Arun. For the purpose of goodwill of the business was agreed to be valued at
3 years purchase of weighted average profits for the past 4 years.

Year Profits Weights

¢
2012 98,000
2013  2,20,000

2014  2,40,000
2015 2,88,480

e N -,
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Following matters were revealed :

a) Closing stock for the year 2013 were undervalued ¥ 12,000.

b) On 2014 as sum of X 8,000 spent repairs of machinery was wrongly debited
to Machinery A/c and depreciation 10% on reducing balance method.

c) ¥ 10,000 Annual charges for the valuation of Goodwill from the above
information.

Calculate the value of Goodwill.

PN’ TR FOBIOIN 98089 VRT3 = wmdd& e I{ARIDY) 2. B3 efodw..- N30
LY, DR NG P BT IRFT gabefbwoda LDV araéd (Pt :’c:‘: =50
6&%;‘553@ QP ORCTINYT.

R ot - ¥
o¥0%
2012 98,000 1
2013 2,20,000 2
2014  2,40,000 3
2015 2,88,480 4
- 3PNS 203N BoROONT

a) RoBONE FRJIoH $3,2013 do‘a’x%‘% de. 12,000 B, 38350 W6 SRad.

b) 2014 So de. 8,000 03003.@ CTTOLD @ﬁ@éd Gewebmﬁ d?,i 31?\ éaé NG,
Qw0 3e. 10 To3 A3 3R wdéofo 30ee3 e:s#dsa mwmhcﬂ

c) tn. 10,000 SR 93259‘591 363 TP, SDC?@)%; SRR VEOINT.
RO T0&E003 z%eérdfaegsd&q FOBIROND.
10. The following are balances of Deccan Bank Ltd. as on 31-3-2016.

L[4
a) Share Capital (Rs. 100 each) 2,50,000

b) Statutory Reserves 1,75,000
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c) Fixed Deposit
d) Investment (at cost)
e) Current Accounts
f) Pand L A/c (31-3-2015)
g) Premises (original cost 21,50,000)
h) Cash in hand
i) Cash with RBI
j) Loans from other Banks
k) Bills discounted and Purchased
I) Saving Deposits
m) Bills payable
n) Brand Adjustments (Cr.)
0) Unclaimed Dividend
p) Non Banking Assets
q) Stamps on hand
r) Stock of Stationary
s) Advance to Building contractor
t) Loans/Advances/Cash credits
u) Rebate on bills discounted

v) Profit for the year 2016

4,75,000
13,00,000
35,00,000
1,05,000
20,00,000
80,000
6,50,000
2,50,000
8,00,000
20,00,000
4,00,000
15,000
15,000
1,20,000
5,000
15,000
20,000
23,37,000
7,000

1,25,000

36323/C 230
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Adjustments :

i) Transfer 25% of profit to statutory Reserve.
ii) Directors proposed dividend of 20%.

i
)

iii Accepfances and endorsements ¥ 15,000.
iv) Bills for collections ¥ 10,000.

Prepare Balance Sheet in Prescribed form with Schedul'es.

QT8 31-3-2016 Somdd B 23,05° FBOOT Smdeeonsh FENSoss:

d5.
a) 3edd worEmeY 3. 100 o3 2,50,000
b) 207w 2 1,75,000
c) RIS BeDed 4,75,000
d) RI0ZRLARLD (Bww 23¢9 13,00,000
e) @A LN | 35,00,000
f) eoe36 2393 (31-3-2015) 1,05,000
g) 3uEnsh (Swew 13 de. 21,50,000) 20,00,000
h) 80309To= SN Bes &0, 80,060
i) RBI 3983 s 6,50,000
j) a8o mzso%ar{@od OO 2,50,000
k) SD0eDRT 0B R0OT BOBRNE 8,00,000
1) evozoes Beesnishd 20,00,000

m) ﬂfadéﬁé TOORNL ' 4,00,000
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n) 20T030TING IO 15,000
0) osire Emomeds 8 (B3R) 15,000
p) mzso%eéd SINTO 1,20,000
q) 30T ors-23eesnEd = 5,000
r) AN 3 | 15,000
5) BRRTBD MIGRON 823, ROONE 20,000
) TO® RN T SRR TR 23,37,000
) R00E Roo@ne e ApeRoD DoIR0S 7,000
v) D08 31-3-2016 % 55.)3’63033% Sping 1,25,000
BROTEIFNAT:

i) oon T3S 25 B3 m#ﬁuq OR o 0WRD0.
ii) A3 eBFT> B¢. 20 T3 LTI, RRWATIC.
iii) %e@d o*o’@oa’d gcpla) gn. 15,000.
iv) SRAECDN WOT BIORNW gn. 10,000.
DOFRRRAT SN T2 322379¢), &0 R S0IRORD.

Case study (Compulsory Question) : (1x15=15)

11. Calculate the Fair Value of Shares of Ashirwad Ltd. from the following :
Balance Sheet as on 31-3-2016

£4
Capital and liabilities :
Shares Capital :
10% — 4,000 Preference Shares of Rs. 100 each 4.,00,000

10,000 — Equity shares of Rs. 100 each 10,00,000
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Reserves and Surplus 3,00,000
10% Debentures 2,00,000
Current Labilities _ 1,00,000
20,00,000
Properties and Assets :
Sundry Assets 19,00,000
Preliminary Expenses 1,00,000
| 20,00,000

Additional Information :

a) Normal rate of Return is 15%.

b) Average Profit before tax — ¥ 8,00,000.
c) Rate of tax — 30%.

d) Education cess on tax — 3%.

e) Transfer and reserve is ¥ 40,000 p.a.

Comment on the same.
TF0E0 T, (FTAH B3) (1x15=15)

cdRen, BPYT DTS ST 330663 BT VOB FoBICD SeToris dﬁe%ddl
BOTBIEGRCND

s B8E31-3-2016

oR.
LOEY 0B BRFBMDOB :
300 LOBY
3e. 10 9o 4,000 8%, B de. 100 3o3 4,00,000
10,000 mdsaag Bedons T & Se. 100 So3 10,00,000
B By ot 3,00,000




\

| EAE O A0 0 5.

3e. 10 303 m© TN

Sl BRTBNOOB

TP LD G,

23S B &SN :
a) MRRT, Yu8s 33 Be. 15 o8 AV

b) 301 Becen wdE 0RO oo dse. 8,00,000.
c) 30n =0 3e. 30 ToB QABIR)T.

d) 3Tes8 Z2° Be. 3% 3ort Boeed ABHD ..

€) 07 > Y@eRa Tr. 40,000 B Sarg ATHF.
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2,00,000
1,00,000
20,00,000

19,00,000
1,00,000
20,00,000




